track x?

N of associated (recoToSim) looper tracks vs normalized X’

0924 6 & 10 12 14 16 18 20

track x2

berset

308

-:ol-s;‘i‘_l#hl

3 8¢

P £

Syoel} e}

092 4 6 8 10 12 14 16 18 20

) tracks vs normalized x?

recoToSim)

[{

track x2
ég—HSH{SVSF@BBg dynamicChi2CutOverlap

syoel ann

[N o associated

0924 6 8 10 12 14 16 18 20

track x2

i

T
r
I

©

o
syoel ayg]

syoen

[N of reco track vs normalized x2

092 4 6 8 10 12 14 16 18 20

[ Nof reco track vs.

= e
3 |
syoen

0.95/



	Contents
	Page 1


